IBM 360 vs B5000

	
	IBM 360 (1964)
	Burrows 5000 (1961)

	Instruction size(s)
	Variable (16, 32 and 48 bits)
	12 bit (syllables)

	Character Size
	4 bits (Binary coded decimal) and 8bit (Eight bit coded decimal)

ASCII
	6 bits (8 characters/48 bits word)

	Integer Size
	32 bits
	48 bits (no floating point/integer conversion. Integer’s exponent field is 0)

	Floating Point Size
	32 bits and 64 bits
	48 bits

	Address Size
	24 bits (ignore 8 most significant bits in 32 bits)
	Program Reference Table with 1024 entries (Segmented)


· B5000

· Stack architecture

· High level language computer (ALGOL & COBOL)

· Java Virtual Machine uses stack-oriented short operands
· HP calculators use Reverse Polish Notation

· Legacy of IBM 360
· 8 bit characters

· 32 bit size
· ascii characters

· general purpose register model (base + index register addressing)
· floating point registers separate from integer registers

· 2’s complement

· binary compatibility
· segmented virtual memory

· asynchronous I/O

· byte addressability

· IBM 370

· Paged virtual memory

RISC vs CISC
· On the desktop, CISC won. 
· Embedded systems where power and every nickel counts, RISC won.

· RISC architectures got more complicated over time. Remained load/store architectures for the most part with complicated register operations.
· RISC pushes the burden onto compilers to do things efficiently.
· Code size is not necessarily better with RISC architecture.

· RISC moves complexity from hardware to software. Software => best effort (can patch stuff later). Hardware => fix everything (culture to get it write).

· RISC architecture not difficult to clone. IBM 360, on the other hand, very complex and difficult to clone.
